

KANSAS CORPORATION COMMISSION RIGINAL

Form ACO-1
October 2008
Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License # 32158	API No. 15 - 055-22030-0000				
Name: H&B Petroleum Corporation	Spot Description:				
Address 1: PO Box 277	SE _SW _SE Sec. 18 _Twp. 22 _S. R. 33 _ ☐ East				
Address 2:	330 Feet from North / South Line of Section				
City: Ellinwood State: KS Zip: 67526 + 0 2 7 7					
Contact Person: Al Hammersmith	Footages Calculated from Nearest Outside Section Corner:				
Phone: (620) 564-3002	□ NE □ NW ☑ SE □ SW				
CONTRACTOR: License #_34066	County: Finney				
Name: Trinity Oilfield Services Inc	Lease Name: Garden City A Well #: 5				
Wellsite Geologist: Jim Musgrove	Field Name: Damme				
Purchaser: NCRA	Producing Formation: Mississippi				
Designate Type of Completion:	Elevation: Ground: 2891 Kelly Bushing: 2902				
New Well Re-Entry Workover	Total Depth: 4960 Plug Back Total Depth:				
✓ Oil SWD SIOW	Amount of Surface Pipe Set and Cemented at: 485 Feet				
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? Yes No 2				
CM (Coal Bed Methane) Temp. Abd.	If yes, show depth set:Feet				
Dry Other					
(Core, WSW, Expl., Cathodic, etc.)	If Alternate II completion, cement circulated from:				
If Workover/Re-entry: Old Well Info as follows:	ieet deptii to				
Operator:	Drilling Fluid Management Plan AH II NCR 12-10-09				
Well Name:	(Data must be collected from the Reserve Pit)				
Original Comp. Date: Original Total Depth:	Chloride content: 3000 ppm Fluid volume: 7680 bbls				
Deepening Re-perf Conv. to Enhr Conv. to SWD	Dewatering method used: No fluid to remove				
Plug Back: Plug Back Total Depth	Location of fluid disposal if hauled offsite:				
Commingled Docket No.:	Operator Name:				
Dual Completion	Lease Name: License No.:				
Other (SWD or Enhr.?) Docket No.:	QuarterSecTwpS. R East West				
11-12-2008 11-20-2008 02-02-2009 Spud Date or Recompletion Date Date Reached TD Completion Date or Recompletion Date	County: Docket No.:				
INSTRUCTIONS: An original and two copies of this form shall be filed with Kansas 67202, within 120 days of the spud date, recompletion, workover or copies to side two of this form will be held confidential for a period of 12 months if required tiality in excess of 12 months). One copy of all wireline logs and geologist we BE ATTACHED. Submit CP-4 form with all plugged wells. Submit CP-111 for	onversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information juested in writing and submitted with the form (see rule 82-3-107 for confidentill report shall be attached with this form. ALL CEMENTING TICKETS MUST				
All requirements of the statutes, rules and regulations promulgated to regulate the complete and gorrect to the best of my knowledge. Signature:	he oil and gas industry have been fully complied with and the statements herein				
ritle: Vice President Date: November 4, 2009	KCC Office Use ONLY				
Subscribed and sworn to before me this 4th day of November	Letter of Confidentiality Received If Denied, Yes Date:				
	Wireline Log Received				
$90 \frac{09}{}$.	Geologist Report Received RECEIVED				
Notary Public: Junae M. Jartridge	UIC Distribution				
Date Commission Expires: January 3, 2010	DEC 0 8 2009				

Operator Name: H&	B Petro	leum Corpo	ration		Leas	se Na	ıme: _	Sarden City A		Well #: .	5	
Sec. 18 Twp.				t 🗹 West	Cour	nty: _	Finne	у	/// PAPM			
INSTRUCTIONS: S time tool open and c recovery, and flow ra surveyed. Attach fin	losed, flo tes if gas	wing and shu s to surface te	t-in press st, along	ures, whether s	hut-in pr	essu	re read	ched static level,	hydrostatic	pressures, bot	tom hole tem	perature, fluid
Drill Stem Tests Take			□ Y	′es ☑ No			V Lo	og Formatio	п (Тор), Dep	th and Datum		Sample
(Attach Additional Samples Sent to Ge	•	Survey	ΨY	′es □ No	!		Nam Heeb			Top 3802		Datum
Cores Taken Electric Log Run (Submit Copy)			U Y				Marm			4338 4364		
List All E. Logs Run: Dual Induction Log Dual Compensated F Microresistavity Log	•	og				- 1		okee ow Shale		4437 4483 4764 4807		
Cement Bond Collar	Log			CASING	DECODI	I	V Ne	ssippi 				
			Rep		i			rmediate, product	ion, etc.		—————	
Purpose of String		Size Hole Drilled		ze Casing et (In O.D.)		Veight os. / Ft		Setting Depth	Type o Cemer			and Percent Additives
Surface	12	1/4	8 5/8		23#			473.60	Class A	300	3%C0	C 2% Gel
Production	77	/8	5 1/2		14#			4948	60/40 Po	s 50	6%Ge	el 1/4#Floseal
					!				ASC	150	5#Gils	sonite 10%Salt
				ADDITIONAL	CEMEN	ITING	/ SQL	EEZE RECORD				
Purpose: Perforate		Depth fop Bottom	Турс	e of Cement	#Sacks Used Type and Percent Additives							
Protect Casing Plug Back TD Plug Off Zone	20-	48'	60/40 F	Pos / Class A	405 /	5 / 50 6% Gel 1/4# Floseal / No Additives		o Additives				
					J							
Shots Per Foot		PERFORATION Specify F	ON RECOI	RD - Bridge Plug Each Interval Perf	s Set/Typ forated	oe				ement Squeeze of Material Used		Depth
2	4791				į.			Squeeze w/75 sxs 60/40				4791
4	Morr	ow sand 4	741-47	62		·		Acid 1000	gals 7 1/2	2%		
	1st Frac 4741-4762						Frac 472 b	ls 60/30 s	sand 3500#	# Max		
4	4741-4762						Acid 1500	gals 7 1/2	2%			
		Frac 4741-			· · ·			Frac 720 bls	60/30 san	d 2871#Max	2710# Avg	1
TUBING RECORD: 2	5iz 7/8	_	Set At: 4775	:	Packer	r At:		Liner Run:	Yes	No		
Date of First, Resumed 02-03-2009	Producti	on, SWD or Ent	nr.	Producing Meth	nod:		Flowing	g 🔽 Pumpir	ng 🗌 G	as Lift	Other (Explain	7)
Estimated Production Per 24 Hours		Oil I	3bls.	Gas 0	Mcf		Wate	er B 59	bls.	Gas-Oil Ra	tio	Gravity
DISPOSIT	ION OF G	AS:		Λ,	/ETHOD	OF C	OMPI F	TION:		PROD	UCTION INTER	RVAL:
Vented Sol	_	Ised on Lease			Perf.			_	nmingled			
(If vented, Se	ubmit ACO	-18.)		Other (Specify)	<u> </u>						REC	EIVED

Mail to: KCC - Conservation Division, 130 S. Market - Room 2078, Wichita, Kansas 67202

DEC 0 8 2009



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: Fax:

(785) 483-3887 (785) 483-5566

Bill To:

H & B Petroleum Corp. P. O. Box 277

Ellinwood, KS 67526

	\\/	\bigcirc		(C)	
\square \square \square	_/		ш		L

Invoice Number: 117087

Invoice Date: Nov 12, 2008

Page:

Customer ID	Customer ID Well Name# or Customer P.O.		
H&B	Garden City A #5	A #5 Net 3	
Job Location	Camp Location	Service Date	Due Date
KS1	Oakley	Nov 12, 2008	12/12/08

Quantity	Item	Description	Unit Price	Amount
300.00	MAT	Class A Common	15.45	4,635.00
5.00	MAT	Gel	20.80	104.00
10.00	MAT	Chloride	58.20	582.00
315.00	SER	Handling	2.40	756.00
75.00	SER	Mileage 315 sx @.10 per sk per mi	31.50	2,362.50
1.00	SER	Surface	1,018.00	1,018.00
185.00	SER	Extra Footage	0.85	157.25
75.00	SER	Mileage Pump Truck	7.00	525.00
1.00	SER	Manifold Head Rental	113.00	113.00
1.00	EQP	Surface Plug	68.00	68.00
		H&BPEISC VENDOR 22292 ACCI # 400130 A. PROPERTY 210 (S) DESCRIPTION Coment surface APPROVAL Q	933 11-26	-98

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

1032 07

ONLY IF PAID ON OR BEFORE

Dec 12, 2008

TOTAL			•	 	10,654.87
Payment/Cred	it Appli	ed	 	 	
Total Invoice A	mount				10,654.87
Sales Tax				 	334.12
Subtotal					10,320.75

< 1032.07) 9622.07

RECEIVED DEC 0 8 2009

KCC WICHITA

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665 SERVICE POINT; CALLED OUT Carden city A LOCATION NE into OLD OR NEW Circle one) CONTRACTOR **OWNER** TYPE OF JOB **HOLE SIZE** 485 **CEMENT** AMOUNT ORDERED 300 sks com **CASING SIZE** DEPTH 485 3%ce 2% 4el **TUBING SIZE** DEPTH **DRILL PIPE** DEPTH TOOL DEPTH COMMON_300Sks PRES. MAX **MINIMUM** MEAS. LINE POZMIX CEMENT LEFT IN CSG. GEL PERFS. CHLORIDE DISPLACEMENT ASC @ **EQUIPMENT** @ PUMPTRUCK # 423-281 CEMENTER **HELPER BULK TRUCK** 394 DRIVER **BULK TRUCK** DRIVER HANDLING 3/5 **REMARKS:** SERVICE DEPTH OF JOB Cement od circulate PUMP TRUCK CHARGE EXTRA FOOTAGE 18-5 MILEAGE 25 MANIFOLD hed rendace @ @ @ TOTAL /8/3,25 STREET PLUG & FLOAT EQUIPMENT @ To Allied Cementing Co., LLC. @ You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL SALES TAX (If Any) _ TERMS AND CONDITIONS" listed on the reverse side. TOTAL CHARGES _ PRINTED NAME Wesley DISCOUNT ______ IF PAID IN 30 DAYS



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: Fax: (785) 483-3887 (785) 483-5566

Bill To:

H & B Petroleum Corp. P. O. Box 277

Ellinwood, KS 67526

INVOICE

Invoice Number: 117288

Invoice Date: Nov 23, 2008

Page: 1

CustomerID	Well Name# or Customer P.O.	Payment Terms Net 30 Days	
H&B	Garden City A #5		
Job Location	Camp Location	Service Date	Due Date
KS1	Oakley	Nov 23, 2008	12/23/08

Quantity	Item	Description	Unit Price	Amount
50.00	MAT	Class A Common	15.45	772.50
430.00	MAT	Lightweight Class A	14.05	6,041.50
2,150.00	MAT	Gilsonite	0.89	1,913.50
107.00	MAT	Flo Seal	2.50	267.50
527.00	SER	Handling	2.40	1,264.80
75.00	SER	Mileage 527 sx @.10 per sk per mi	52.70	3,952.50
1.00	SER	Production String - Top Stage	1,185.00	1,185.00
		ļ ļ		
		H& B PETROLEUM VENDOR 2492 ACCT # 4001 30 AFE PROPERTY 210 (5) DESCRIPTION Cement 5/2 "casing Tap 5/age APPROVAL 22 28178	12-23-0	3. J.

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 1539 73

ONLY IF PAID ON OR BEFORE

Dec 23, 2008

Subtotal	15,397.30
Sales Tax	557.69
Total Invoice Amount	15,954.99
Payment/Credit Applied	
TOTAL	15,954.99

RECEIVED

DEC 0 8 2009

<1539.73,

14415.26

KCC WICHITA

SERVICE POINT: REMIT TO P.O. BOX 31 Oakley RUSSELL, KANSAS 67665 RANGE 33 W CALLED OUT ON LOCATION LOCATION Garden OLD OR NEW (Circle one) CONTRACTOR H2 OWNER same TYPE OF JOB Production CEMENT HOLE SIZE AMOUNT ORDERED 430 SKS Lite **CASING SIZE** DEPTH C//sonite DEPTH **TUBING SIZE** DRILL PIPE **DEPTH** TOOL DEPTH COMMON_50 SES MINIMUM PRES. MAX SHOE JOINT 14-80 POZMIX MEAS. LINE CEMENT LEFT IN CSG. **GEL CHLORIDE** PERFS. DISPLACEMENT **EQUIPMENT** Andrew PUMPTRUCK CEMENT # 423-281 HELPER CEMENTER _ Larene **BULK TRUCK** Liberal @ BULK TRUCK @ 丁のかり DRIVER HANDLING 527 347 MILEAGE 104 SK REMARKS: **SERVICE** DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE >5 miles MANIFOLD __ CHARGE TO: H+B Petrol TOTAL 1185,00 STREET STATE PLUG.& FLOAD EQUIPMENT - 6 To Allied Cementing Co., LLC. @ You are hereby requested to rent cementing equipment @ and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was TOTAL done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL SALES TAX (If Any) -TERMS AND CONDITIONS" listed on the reverse side. TOTAL CHARGES _ _ IF PAID IN 30 DAYS DISCOUNT ___ PRINTED NAME

SIGNATURE/



24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Voice:

(785) 483-3887

Fax:

(785) 483-5566

Bill To:

H & B Petroleum Corp. P. O. Box 277

Ellinwood, KS 67526

INVOICE

Invoice Number: 117287

Invoice Date: Nov 23, 2008

Page:

1

CustomerID	Well Name# or Customer P.O.	Payment	t Terms
H&B	Garden city A #5	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1	Oakley	Nov 23, 2008	12/23/08

Quantity	Item	Description	Unit Price	Amount
30.00	MAT	Class A Common	15.45	463.50
20.00	MAT	Pozmix	8.00	160.00
6.00	MAT	Gel	20.80	124.80
150.00	MAT	ASC Class A	18.60	2,790.00
750.00	MAT	Gilsonite	0.89	667.50
12.00	MAT	Flo Seal	2.50	30.00
14.00	MAT	Salt	23.95	335.30
236.00	SER	Handling	2.40	566.40
75.00	SER	Mileage 236 sx @.10 per sk per mi	23.60	1,770.00
1.00	SER	Production String - Bottom Stage	2,185.00	2,185.00
75.00	SER	Mileage Pump Truck	7.00	525.00
1.00	SER	Manifold Head Rental	113.00	113.00
1.00	EQP	Guide Shoe	192.00	192.00
1.00	EQP	AFU Insert	293.00	293.00
1.00	EQP	Basket	186.00	186.00
8.00	EQP	Turbolizers	79.00	632.00
16.00	EQP	Reciprocating Scratchers RECEIVED	74.00	1,184.00
1.00	EQP	D V Tool	4,500.00	4,500.00
		DEC 0 8 200	9	
		KCC WICHIT	A	
LL PRICES AR	RE NET, PAYABLI	Subtotal	The state of the s	16,717.50

otal Anyoice Amount VENDOR 22493

PROPERTY <u>210</u>

tracedit ApplieaCCT # 4001

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 1671 75

ONLY IF PAID ON OR BEFORE

Dec 23, 2008

	泰	
100		

12.23-08

28178

Sales Tax

H& B PETROLEUM

< 1671.75) 15762,3:

716.60

17,434.10

17,434.10

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665 SERVICE POINT:

			1		· · · · · · · · · · · · · · · · · · ·		1
DATE //-23-C	SEC &	TWP	RANGE 334	CALLED OUT	ON LOCATION		JOB FINISH
farder ity	4	5	Gar	dencity		COUNTY	STATE
LEASE	WELL#	<u> </u>	LOCATION		N 5W	Finney	185
OLD OR NEW (Circle one)		18N Ein	<i>TO</i>			
CONTRACTOR	Hon	rilling	9 Rig 2	OWNER	Same		
	Product	ion ()	Botton Stag				
HOLE SIZE	1/1	T.D.	4960	CEMENT	,		
CASING SIZE	5/2	14 TOEP		AMQUNT	ORDERED 152	Ses As	c 5th Ison
TUBING SIZE		DEF	TH	10% 50	It oboel		
DRILL PIPE		DEP			5 6/40 6/	spelly	Flo-Seel
TOOL $\mathcal{O} \nu$		DEF	тн 2048			~	
PRES. MAX		MIN	IMUM	COMMON	30 s/cs		5 463,50
MEAS. LINE		SHC	E JOINT 14.80	POZMIX	20 SKS	@	0 160,00
CEMENT LEFT	IN CSG.	14.80		GEL	Lo 555	@ <i>2018</i>	0124.80
PERFS.		- 2 an	, , , , , , , , , , , , , , , , , , , 	CHLORID	E_ '50 Sk5	— <u> </u>	0 2790,00
DISPLACEMEN	T (20.	02 BB			30 383	@ <u>/ ۵,6</u>	2 770,00
	EQU	HPMENT	49,97 m	Gilson	40 7507#l	- W	1207,50
				GIBUIL	10 150	@ /	_ CABITO
PUMP TRUCK ,	CEMENT	ER A	nd rew	- Flo-sea	6 12#6		30,00
# 423-281	HELPER	La	rene	_		@ <u></u> _	
BULK TRUCK				salt	14 355	@ 2 2.5 9-	5 335,30
# <i>38</i> 6	DRIVER	Jer				@	
BULK TRUCK		Joh	n Great				
# -347	DRIVER	701		HANDLIN	IG 2365ks	@ 2142	5 566,40
			Libera	MILEAGE	104 sk/m	Le	1770,00
	RE	MARKS:				TOTA	AL6907.50
			ed by 150	7		101/	
	vash x		and likes	_	CED	VICE	
	splace			7	SER	VICE	
Clean Di			tland	DEPTH O	FJOB 4/23°	4'	
Float &		hold.	Pen Ov		UCK CHARGE		2185,00
Tool 1000	280			EXTRA FO		@	<u> </u>
, , , , , , , , , , , , , , , , , , , ,	<u> </u>			MILEAGE	75 mile		525,00
		1 5-		MANIFOL	D Head rent	& C @	113.00
	7	hank	904				
						@	
CHARGE TO: _	H +13	Pot	roleum				_
CHARGE 10.						TOT	AL 2823,00
STREET							
CITY	ст	ATE	ZIP				
CI I	31	A16	ZII		PLUG & FLO	DAT EQUIPM	ENT
				لداهجي			
				1 Guis	1e 5ho0.	@	192.00
				1 AFL	(INSert	@	293,00
To Allied Come	ntina Co	LLC		1 Bas	Ket	@	186,00
To Allied Ceme	requested t	LLC. to rent cen	nenting equipmen	8 Ture		12 cr & 79 cc	0063200
You are nereby	requested t	holpor(s) t	o assist owner or	18 Rec	afracting.	School Street	4.00 1 100 000
				" PDV	100		450000
contractor to do	work as is	narvision	ne above work wa	544 . 11	3	TOT	AL AL
done to satisfac	นเดม สมส รูก	hei visiou	of owner agent or nd the "GENERA	f	, 1	_	675 7,00
contractor. That	CONDITION	MICH ISLA	on the reverse sign	SALES TA	AX (If Any)	POTO CO CO	1 —
I ERMS AND	CONDITIO	nas iisiec	on the reverse sit	uc.	. D	A P Cons	Ī
				TOTAL C	пакоез — 🥷	3 47 8 47 67	y .
PRINTED NAM	E			DISCOUN	T	IF I	PAID IN 30 DAYS
	01.		A ACTION TO SEC. 13	_{அத்} நம்வூர் செரியம்	- FIN 1991 E	्य व्याप	g salan
						4 4 6	
CICNIATION	//SL. /.				· 1		Araba .



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: Fax: (785) 483-3887 (785) 483-5566

Bill To:

H & B Petroleum Corp. P. O. Box 277 Ellinwood, KS 67526

INVOICE

Invoice Number: 117430

Invoice Date: Dec 4, 2008

Page:

CustomerID	Well Name# or Customer P.O.	Payment	Terms	
H&B	Garden City A	Net 30 Days		
Job Location	Camp Location	Service Date	Due Date	
KS1	Great Bend	Dec 4, 2008	1/3/09	

	Description	Unit Price	Amount
MAT	Class A Common	15.45	3,244.50
MAT	Pozmix	8.00	320.00
MAT	Gel	20.80	104.00
MAT	Flo Seal	2.50	62.50
SER	Handling	2.40	614.40
SER	Mileage 256 sx @.10 per sk per mi	25.60	1,920.00
SER	Squeeze	2,185.00	2,185.00
SER	Mileage Pump Truck	7.00	525.00
SER	Manifold	100.00	100.00
	H&BPETROLEUM VENDOR 22492 ACCT * 4001.30 AFF PROFERTY 210 (5) DECORIPTION Cement to squeeze AFFROVAL 28178	12-23-8	
	MAT MAT SER SER SER SER	Pozmix Gel MAT Gel MAT Flo Seal Handling SER Mileage 256 sx @.10 per sk per mi SER Squeeze Mileage Pump Truck Manifold H&B PETROLEUM VENDOR 22492 ACCT * 401.30 AFF PROFERTY 210 (5) DESCRIPTION Cement to saveeze	MAT Pozmix 8.00 20.80 MAT Flo Seal 2.50 2.50 SER Handling 2.40 Mileage 256 sx @.10 per sk per mi 25.60 SER Squeeze 2,185.00 Mileage Pump Truck 7.00 Manifold 100.00 Ma

ALL PRICES ARE NET, PAYABLE
30 DAYS FOLLOWING DATE OF
INVOICE. 1 1/2% CHARGED
THEREAFTER. IF ACCOUNT IS
CURRENT, TAKE DISCOUNT OF

\$ 90754

ONLY IF PAID ON OR BEFORE

Jan 3, 2009

Subtotal	9,075.40
Sales Tax	231.32
Total Invoice Amount	9,306.72
Payment/Credit Applied	
TOTAL	9,306.72

RECEIVED

DEC 0 8 2009

KCC WICHITA

〈907些〉

83991

RUS	BOX 31 SELL, KA	NSAS 676	665			Libera	1,45
DATE 12-4-08	SEC.	TWP 22	RANGE 33	CALLED OUT	ON LOCATION 7:30 AM	JOB START	JOB FINISH
Garden	WELL#	′\^`	LOCATION	arden City, an	5/2 Vinto	COUNTY Finney	STATE
LEASE CAL			LOCATION	araencity, in,	JiJW, JITHO	FILIPLEY	
OLD OR NEW (Circle one)				1		
CONTRACTOR			rvice	OWNER /	tiB Petro	leam	
TYPE OF JOB S HOLE SIZE	queeze	тг	. 4548	CEMENT			
CASING SIZE	12		PTH	AMQUNT (ORDERED <u>/50</u>	SY Commo	21,
TUBING SIZE 2	74		PTH 4598'		6/40,6%ge,	1 4/4 Flose	z/
DRILL PIPE			PTH		· · · · ·		
TOOL		DE	PTH		~ .		
PRES. MAX/20	DOPSI	MI	NIMUM -	COMMON.	SION		3244.50
MEAS. LINE		SH	OE JOINT	POZMIX	HONY.	@_ &. 00	
CEMENT LEFT	IN CSG.			GEL	<u> 5a4.</u>	@ Z0 . 8 0	104.00
PERFS. 4791				CHLORIDE	<u> </u>		
DISPLACEMEN	T Fres	hjuater		ASC	25 H	= [@] -355	62,51
		UIPMEN1		Trose	AC 23-	<u>=</u> <u>@_2.50</u>	<u> </u>
		-				@	
PUMP TRUCK	CEMEN	TER	Gr Rick	J			
#/ 8 /	HEI PER	Gailer	<u> </u>				
BULK TRUCK							
#456/199	DRIVER	·Jeff				@	
BULK TRUCK	DIGITE	<u> </u>				@ <i></i>	
#	DRIVER	₹	•	TT A NUNT INT	28/40	e @ 2040	614.40
Tr				——— HANDLING MILEAGE			1920,00
	· / · · · · · · · · · · · · · · · · · ·	Jet Div	KCC 4348,	land			
Injection Date leteral V4 Flor	cure to Si 26pm seal, 7/3	08 - PUN Q 450 psi DSI Comi G ORSSUCE	ren displace 1000 si Shuti	bing, With DEPTH OF Own PUMP TRU	SERY JOB <u>\\S\R\</u> JCK CHARGE		2185.00
injection Pate legge 1 44 Flo 212 bbls Fres Ric Swap Con	cure to Se 26pm seal, 7/5 hupter,	OF PUM OF COMI S PRESSURE of Note. I	ng don n flor mig 100 st 004 mn displace 1200 si Shute worked to tub	bing, (a) (with DEPTH OF Storn, PUMP TRU (a) EXTRA FO	JOB <u>4548</u> JCK CHARGE OOTAGE	@	
injection Pati letegil 14 Flo Habbles Fres Rig Sumb Cen	ure to Se 26pm seal ? /S hupter, entout	OF PUM OF COMING OF PRESURE OF INCL. I WELL TO	ng don n flor mig 100 st 004 mn displace 1200 si Shute worked to tub	bing DEPTH OF COMP TRU CAGA PUMP TRU CAGA EXTRA FOR MILEAGE	FJOB <u>4548</u> JCK CHARGE _ DOTAGE	@	525.00
injection Pate letegil #14 Flo 212 bbls Fres Ric Supp Con	ure to Se 26pm seal ? /S hupter, entout	OF PUM OF COMING OF PRESURE OF INCL. I WELL TO	ng don n flor mig 100 st 004 mn displace 1200 si Shute worked to tub	bing, (a) (with DEPTH OF Storn, PUMP TRU (a) EXTRA FO	FJOB <u>4548</u> JCK CHARGE _ DOTAGE	@	
injection Pati letegil 14 Flo Habbles Fres Rig Sumb Cen	oure to Si 2 26pm seal, 2/3 hunter, entout 1000 s Obbls Fr	OF PUN OF COMI 251 COMI 9 pressure of vole. I held Ri esh UD,	pp dem ham mix 1605x 674 mn displace 1300ps; Shute worked to tub eversed out	bing DEPTH OF COMP TRU CAGA PUMP TRU CAGA EXTRA FOR MILEAGE	FJOB <u>4548</u> JCK CHARGE _ DOTAGE		525.00
in Jection Patient Color Patrick Plants Cres Rig Sumb Cen pressure to 1 way with 12 CHARGE TO:	cure to Si 2 26pm seal, 2/3 hunter, entout 1000 s	OF PUN OF CAMA Spressure of vole I held R	pp dem ham mix 1605x 674 mn displace 1300ps; Shute worked to tub eversed out	bing DEPTH OF COMP TRU CAGA PUMP TRU CAGA EXTRA FOR MILEAGE	FJOB <u>4548</u> JCK CHARGE _ DOTAGE	@ @ 7.0 0 @ @ @	525.00
in section Pate letige # 14 Flo Abhls Gres Rig Supp Cen pressure to 1 way with 1 de CHARGE TO:	eure to Sie 26pm 26pm seal 2/5 hupter entout 200 5 Obbis Fr	De Pun O HSD PSI O POR SANCE OF NOTE LE WELL LO POR CO	pp denn tom mix 1805x 86 mp displace 1900ps; Shute wersed and	bing DEPTH OF COMP TRU CAGA PUMP TRU CAGA EXTRA FOR MILEAGE	FJOB <u>\\\/5\/\8\\\</u> JCK CHARGE	@@	S25.00 100.00
In Jection Pate letter: May Labor Cen pressure to 1 way with 12 CHARGE TO:	Light of G	OF PUM OF COMING SPOSSINGE OF VOICE P POLICE STATE	pp demn ten mix 100s 100s mn dis place 1300s Shute soked to tub eversed aut	bing DEPTH OF COMP TRU CAGA PUMP TRU CAGA EXTRA FOR MILEAGE	FJOB <u>\\\/5\/\8\\\</u> JCK CHARGE	@ @ 7.0 0 @ @ @	S25.00 100.00
in Jection Pate left of the Plant Company with 120 CHARGE TO:	Light of G	OF PUM OF COMING SPOSSINGE OF VOICE P POLICE STATE	pp denn tom mix 1805x 86 mp displace 1900ps; Shute wersed and	bing DEPTH OF COMP TRU CAGA PUMP TRU CAGA EXTRA FOR MILEAGE	FJOB <u>\\\/5\/\8\\\</u> JCK CHARGE	— @ — 7.00 @ 100.00 @ @ TOTA	S25.00 100.00 L 2810.00
injection Pati letign Pati Letign Willow Lig Supplicen pressure to I way with I de CHARGE TO:	Light of G	OF PUM OF COMING SPOSSINGE OF VOICE P POLICE STATE	pp denn tom mix 1805x 86 mp displace 1900ps; Shute wersed and	bing DEPTH OF COMP TRU CAGA PUMP TRU CAGA EXTRA FOR MILEAGE	FJOB <u>\\\/5\/\8\\\</u> JCK CHARGE	— @	S25.00 100.00
in Jection Pati letign Pati Alabotis Cres Rig Swab Cen pressure to 1 way with 12 CHARGE TO: STREET CITY	La Color	OF PUM PASOPSI SE PRESSURE SE POLICE PLYCO STATE	pp denn tom mix 1805x 86 mp displace 1900ps; Shute wersed and	bing DEPTH OF COMP TRU CAGA PUMP TRU CAGA EXTRA FOR MILEAGE	FJOB <u>\\\/5\/\8\\\</u> JCK CHARGE	@	2 S25.00 100.00 L 2810.00
In Jection Participal	Lenting Co	De Pun De Cambre Se pressure of hole L held De esh U.O., PUTO STATE	pp dem to mix 1805x 674 mn displace 1300 ps. Shute boked to tub eversed out	ding, with DEPTH OF down, PUMP TRI EXTRA FO MILEAGE MANIFOL	FJOB <u>\\\/5\/\8\\\</u> JCK CHARGE	@	S25.00 100.00 1 2810.00
CHARGE TO: CITY To Allied Cemyou are hereby	enting Co	PLICO STATE ., LLC. d to rent co	min 1605 1606 min 1605 1606 min displace 1300 psi Shute 13	ment	FJOB <u>\\\/5\/\8\\\</u> JCK CHARGE	@	2 S25.00 100.00 L 2810.00
CHARGE TO: CITY To Allied Cemyou are hereby and furnish cert	enting Co	PLICO STATE ., LLC. d to rent cod d helper(s)	my lospice my displace my displace my displace my displace my displace my shape my shape my zip ZIP ementing equip to assist owner	ment	FJOB <u>\\\/5\/\8\\\</u> JCK CHARGE	@	2 S25.00 100.00 L 2810.00
CHARGE TO: CITY To Allied Cemyou are hereby and furnish cerce contractor to design and to design and the centractor to design and	enting Correquested in work as work as	Description of the control of the co	my lospice my displace my disp	ment r or k was	FJOB <u>\\\/5\/\8\\\</u> JCK CHARGE	### TOTAL ### EQUIPME ### @ ### ###	2 S25.00 100.00 L 2810.00
CHARGE TO: To Allied Cemyou are hereby and furnish cer contractor to done to satisfar	enting Correquested menter and owork as cition and	STATE	my lospice my displace my disp	ment ror k was nt or	FJOB <u>\\\/5\/\8\\\</u> JCK CHARGE	### TOTAL ### EQUIPME ### @ ### ###	2810.00
To Allied Cemyou are hereby and furnish cer contractor. I h	enting Co requester new and ave read a	STATE	my lospice my displace My disp	ment r or k was nt or ERAL	FJOB <u>\\\/5\/\8\\\</u> JCK CHARGE	TOTAL	2810.00
To Allied Cemyou are hereby and furnish cer contractor. I h	enting Co requester new and ave read a	STATE	my lospice my displace my disp	ment ror k was nt or ERAL se side.	PLUG & FLO	TOTAL AT EQUIPME	2 S25.00 100.00 L 2810.00
To Allied Cemyou are hereby and furnish cer contractor. I h TERMS AND	enting Co requested averaged a	STATE	my lospice my displace My disp	ment r or k was nt or ERAL se side. Sales TA TOTAL CI	PLUG & FLO AX (If Any) HARGES	TOTAL	2810.00
To Allied Cemyou are hereby and furnish cer contractor. I h	enting Co requested averaged a	STATE	my lospice my displace My disp	ment ror k was nt or ERAL se side. TOTAL CI	PLUG & FLO	TOTAL	2810.00